
www.ronixtools.com

AIR TOOLS

RA-1402
Air Drill 10 N/m

Number Name

1 Housing
2 Pin
3 End cover
4 Air Inlet
5 Valve Stem
6 O-ring 4×2
7 O-ring 4×1.1
8 O-ring 12×3
9 Cooper tube
11 O-ring 11.5×1.8
12 Spring
13 Trigger
14 Bolt M4×8
15 O-ring
16 Bearing 626ZZ
17 Cylinder cap
18 Cylinder
19 Rotor Blade
20 Steel wire
21 Rotor
22 Front Plate
23 Washer
24 Bearing 626ZZ
25 Gear wheel
26 Idle Gear
27 Pin
28 Gear shaft
29 Bearing 6201ZZ

Number Name

30 Connector
31 Washer
32 Chuck
33 Chuck screwM5×20
34 Rubber Grip
35 O-ring 10.6×1.8


